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( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
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(@) What is Pareto optimality?
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(2)

Is there transportation cost under
perfect competition?
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What is market failure?
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What is the shape of MR curve under
second degree price discrimination?
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'Define supernormal profit.
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What is a perceived démand curve?
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Write correct or incorrect :

“Under monopolistic competition, there
are a few sellers.”
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Answer the following questions :

(3)

What is oligopoly?
TRIR & 2

What is meant by moral hazard?
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What is a two-person game?
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2x5=10
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What is a contract curve?
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Mention two important characteristics
of public good. '
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What is product differentiation?
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(4) | (5)

(d) Mention two applications of game (d) How is the peak-load pricing done?
theory. Explain.
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fe) Explain the Bertrand equilibrium.

(e) What is information ésymmetry?
IRGE] ST 0T F0 4
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() Briefly explain the concept of adverse
| selection.
3. Answer any four of the following questions : 2ifepet RO 4rReNChT SYL 0 90|
: 5x4=20 | | -
T o R o w6 S o 4. Answer the following questions : 10x4=40
: . SO 2ACIRT Ted fau
(a) Explain briefly equilibrium and A
ffici
efficiency under pure exchange. (a) Discuss the equilibrium  price
Aff RFrR crae SNl WiF TEe] S and output _ determination under
5;{@ T[T I monopolistic compeuuon »
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() What is Coase theorem? Explain. Teor foRfRet SICEoT 91 |
e og k2 IR AT . Or/s/r
) Compare perfectly’ H competitive
() Explain the ‘prisoner’s dilemma’, equilibrium with monopoly equilibrium.
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(6) (7)

(d) Discuss how production possibility

(b) Discuss the equilibrium of two-person fronti d ial indiff
zero-sum game with maxi-min and ontier and social indifference curve
mini-max strategies. : determine allocative efficiency.
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Or /%41 Or /9T -
D.iscuss the problems associated Discu.ss how b-o.th positive and
with the markets with asymmetric negative externalities can lead to
information. : market failure. '
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(c Discuss how Pareto efficiency in

production is achieved.
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How are equilibrium price and output

determined under third degree price

diSCﬁmination? Discuss.
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